1. Glucose, C6H12O6, is burned in the human body according to the equation:  C6H12O6(s) + O2(g) ( CO2(g) + H2O(l)
Calculate the volume of dry CO2 gas produced at body temperature (37OC) and 745 torr when 6.00 grams of glucose is consumed.  Do this two different ways.
2. A mixture containing 0.538 moles He(g), 0.155 moles of Ne(g) and 0.258 moles of Ar(g) is confined in a 8.75 liter rigid container at room temperature.  What is the (a) total pressure, and (b) what is the partial pressure of He(g)?

.
3. Hydrogen gas is produced when zinc reacts with sulfuric acid.  If 159 mL of wet hydrogen gas is collected over water at 23OC and a pressure of 738 torr, how many grams of zinc have been consumed?  The vapor pressure of water is 21.1 torr.
4. Arsenic(III) sulfide sublimes readily.  The molecules of the vapor phase are found to effuse through a tiny hole at 0.285 times the rate of effusion of Ar atoms under the same conditions of temperature and pressure.  What is the molecular formula of arsenic(III) sulfide?

5. Iodine pentafluoride can be prepared by the reaction of iodine and fluorine.  A 5.00 liter rigid container has 10.0 grams of iodine and 10.0 grams of fluorine and the reaction takes place until one of the reactants is consumed.  After the reaction is complete, the temperature in the container is 125OC.  What is the partial pressure of the IF5 in the flask?  What is the total pressure in the container?  What is the mole fraction of the IF5?

6. Calculate the pressure that CCl4 will exert at 40OC if 1.00 moles occupies 28.0 liters, assuming that (a) it behaves ideally, and (b) obeys the van der Waals equation.  The value for a is 20.4 liters2 atm mol-2 and b is 0.1383 liters moles-1.

7. Cyanogen is composed of 46.2% C and 53.8% N.  At room temperature and 750 torr, 1.05 grams of cyanogens occupies 0.500 liters.  What is the molecular formula?

